[ Efficiency vs vertpos |

[ fake+du

plicates vs vertr

~0.05
9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02F+|
0.015
0.01p4}
0.005

.............................................

- 05

Ratio

N
[N AR U LR LR
T 0

Ratio

=
2
N

10 0?
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
=G —— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
ICIeNd _,__ pQM_V0001_R000000001__Global__mkFitOLD-checkDet_ RECO

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05
0

ettici

~ 0.5

w 2
[S1
I

ake+duplicates
o

8.0 45l v

o
w
I
o

B 0250 b

.............

Ratio

15

Ratio
P
=

1

[ Efficiency vs. sim PV z |

1 20 30
TP vert z (cm)

= flitt :
-20 -10 O 10 20 30
track ref. point z (cm)

[ fake+duplicates vs Sim. PV z |

N 0.
>
2.0.09
£
50.08
20.07
o)
20.06,
[}
(&}
£0.05
()
0.04
0.03
0.02

0.0

TTTT
&
"

........................

.......................

...............................................

~n 0.2

.............

0

Ratio

15

Ratio
=

...............

-4

o
©
T

|
oll

15 20 10
Sim. PV z (cm)

Sim. PV z (cm)



	Contents
	Page 1


